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Directions To Candidates

*
collected.

All 6 questions are to be attempted.

All 6 questions are of equal value,

bundles at the end of this exam.
Al necessary working should be shown in every question.

Full marks may not be awarded for careless or badly arranged work.

Put your name at the top of this paper and on each of the 6 sections that are to be

All questions are to be answered on separate pages and will be collected in separate

Question 1 (Start a new page)

s (correct to 3 significant figures)
3.5 + 892

b. Bvaluate |-3><4—Sl + |4 x 6|

c. Completely factorise
i 32+ 11x - 4

. 8’ + 27

d. Express «/-33 - «fﬁ in the form a«fl;

and state the values of a-and b.

e. State the values for x if & +2)? =

i
Question 2 (Start a new page)

a. Bxpress 3.65 (ie. 3.656565 ...) as a fraction in its simplest form.

b. Completely simplify

i 2463 - 5428 - 34343
i Ex-3-& -‘1)2

c. Solve the following equations

i 3x+2=28

il

@k T+ AR T) =96
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Question 5 (start a new page)

Question 3 (Start a new page)
e 1 .
a. Completely simplify a. Find the value of 0 if sin 0 = 0 and 0 is obtuse. 2m
x> -9 x? - 9% + 20
i ) X 5 3m
xt -x-12 x5 - 3x 3 . :
b. If sino = 3 and o, is obtuse, determine the vatue of cos o . 2m
. 5 3
ii. - 3m
2 -3a-4 @ -a-2 R
c. For this figure to the right, 3m
. 4x + 2 X 35.6 cm
b. Solve fi f o] =—"1 <
ovelorx 1 5 , 52 3m determine the exact vaiue of x.
45°
c. Solve the following sinmltaneous equations d. Find the exact value of tan 3000, 2m
Xx-y+3=0 and xy = 10 . 3m
e. An aircraft 1000 m above sea level - : 3m
Question4  (start a new page) sights a radar station at an angle
of depression of 25° . ~g
a. Solveforxif 3x* + 7x +2<0 3m i Redraw the triangle to the
right onto your exam page
and fill in the appropriate
b. On separate diagrams, sketch the following curves, you must indicate information.
all features that assisted your sketch (tables are not suitable).
i Determine the distance this aircraft is
to this station to the nearest metre.
i, y=x + 4x +3 2m
il y= ! +1 2
x -2 m
i, y=|x+1]|-2 2m
A
v, ¥+ +29-3=0 ~3m
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Question 6 (start anew page)

a.

Tind the value of & for 0° < 6 = 3600, if

i sin® = - 1 2m
2
i, 2cos®+ 43 =0 3m
Prove that _tand _E_nf)___ = 2 cot @ 3m
secd -1 sect + 1

Two ships sail from a starting point A A 4m
One sails at a speed of 20 km:/ hr due east
and the other sails at 30 km /hrona
bearing of 163° .
i Redraw this figure onto your exam page

and mark in all relevant information. 1m
i How far apart are the ships in two hours time (nearest km)? 3m
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